Posted by on Thu, 04 May 2023 20:09:46 GMT

View Forum Message <> Reply to Message

with test_data (grp, val) as (
select 1, 8 from rdb$database
union all
select 1, 9 from rdb$database
union all
select 2, 3 from rdb$database
union all
select 2, 4 from rdb$database
)
select
grp,
val,
sum(val) over(partition by grp order by val) as s1,
sum(val) over(w2) as s2
from test_data
window w1l as (partition by grp),
w2 as (w1l order by val)
order by grp, val

----- SR S S ——
1 8 8 15
1 9 17 24
2 3 3 3
2 4 7 7
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Posted by hvlad on Thu, 04 May 2023 21:03:59 GMT

View Forum Message <> Reply to Message
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